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Waves and Simple Harmonic Motion
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Constants

Acceleration due to gravity. . .g = 9.81 m/s2 ou 9.81 N/kg

Gravitional Constant . . . . . . . . .G = 6.67× 10−11 N ·m2kg2

Radius of the Earth . . . . . . . . . . . . . . . . . . . . re = 6.37× 106 m

Mass of the Earth . . . . . . . . . . . . . . . . . . . .Me = 5.98× 1024 kg

Speed of light in a vacuum . . . . . . . . . . . . c = 3.00× 108 m/s

Mass of an alpha particle . . . . . . . . . . .mα = 6.65× 10−27 kg

Mass of an electron . . . . . . . . . . . . . . . . . me = 9.11× 10−31 kg

Mass of a proton . . . . . . . . . . . . . . . . . . . .mp = 1.67× 10−27 kg

Mass of a neutron . . . . . . . . . . . . . . . . . . mn = 1.67× 10−27 kg

Trigonometry et Geometry
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Prefixes used with SI Units

Prefix Symbol Exponential Value

atto a 10−18

femto f 10−15

pico p 10−12

nano n 10−9

micro µ 10−6

milli m 10−3

centi c 10−2

deci d 10−1

deca da 101

hecto h 102

kilo k 103

mega M 106

giga G 109

tera T 1012
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